O (0]
\O
JC @
o |

N & =
Kis 0,676 2,9 8,2 30,4
298Ky, 11,58 19,8 22,4 27,2
Ko/Ks 17,1 6.8 2.7 0,9
Kis 0,477 2,16 6 21,5
308Ky, 9,44 13,9 15,8 20,2
Ko/Ks 19,8 6,5 2,6 0,94
Kis 0,341 1,61 4,5 15,8
SIBK g, 6,57 10,4 11,6 14
Ko/K s 19,3 6,5 2,57 0,89
Kis 0,248 1,26 3.4 11,6
328Ky, 4,802 7,65 8,6 10,8
Ko/K s 19,4 6,07 2,53 0,93



Zusammenfassung der thermodynamischen Konstanten:

NO, o

O\\\//// \\\\O
\\\\
\\\\ \\\ \\\\

= P N =
N N N
AH -28.68 kJ/mol= -22.81 kJ/mol = -22.13 kJ/mol = -25.93 kJ/mol =
Kis -6.85 kcal/mol -5.45 kcal/mol -5.29 kcal/mol -6.19 kcal/mol
AS -99.1 J/mol = -67.68 J/mol = -56.98 J/mol = -58.6 J/mol =
-23.67 cal/mol -16.17 cal/mol -13.61 cal/mol -14.0 cal/mol
AH -25.88 kJ/mol = -25.49 kJ/mol = -24.999 kJ/mol = -25.46 kJ/mol =
K, -6.18 kcal/mol -6.09 kcal/mol -5.97 kcal/mol -6.08 kcal/mol
AS -65.73 J/mol = -60.78 J/mol = -58.1 J/mol = -57.87 J/mol =
-15.70 cal/mol -14.52 cal/mol -13.88 cal/mol -13.82 cal/mol
AH -54.81 kJ/mol = -48.30 kJ/mol = -47.09 kJ/mol = -51.19 kJ/mol =
B -13.09 kcal/mol -11.54 kcal/mol -11.25 kcal/mol -12.23 kcal/mol
2
AS -164.79 J/mol = -128.46 J/mol = -114.98 J/mol = -115.82 J/mol =

-39.37 cal/mol -30.69 cal/mol -27.47 cal/mol -27.67 cal/mol




